S
(o)X _1{o)
1 @
a-
s
,1

J@C)C)( O( )C)C)( DCO |
C O OC OC HC O HC OC HC OC D
C OC HC HC OC DC OC HC DC D)
COOOCOCOCOCOCOCOHCOC
C OC OC HC HC DC DC HC DC D |
@@@@@@@@@@

"o
(3
©

R

]

\ [ ]

an

Ce) 15!!!!!_

r© @] ® @ L
D i 1
Explore Overlander Light
Onderdeel Aantal Naam Bevestiging
1 2 Arreteerbout 4 x M5*12 Pin-Tx (2x)
2 2 Beschermplaat 2 x M5*8 hex (2x)
3 2 Scharnier 2 x M5*10 Pin-Tx (2x)
4 (optional) 2 Airline rails M5*8 PVKK




	Sheets and Views
	Sheet1


